


%ﬁﬂ“’%%

2 =t$35+10%/4

0 B /)
(R EE/ I TEA)

RN 22— REH KR
< 158 i v A BE O - T BE (6122)

BRBREcE /| BEEARGE /| S FERSce
ZETREMRG: /| ESXXEBes /| 2R 2P B3

5 158 i v B O - KB (6122)

i BT AR eE / XOBET BT Bkkm / Z MRS
BEIRE (R /| BEMGIRScE) /[ FeRRYD IR % SR

w1 16 0 GE IS £ Bk O
5 15t o B - /D B (e122)

AR eE | RELHANcE [ BEHEEGR
KR EEer [/ RIKEE KRG [ £ OBKR )

it {76 % 77 B =R

W RS e 2 (2;-%:1)
MRBERS | SNECHEBE

TP H &

$4600+10% (=)




£\ TS~
REFFT$35+10%/t

U= & P21 N
(SRR E /BT 0E/ Weke/\ s/ AR 75 BB 75 / B MK L )

IR BRIz 2 — BB BEE
X B A B O -1 ES (e24)

BRIBREcE /| BEEEARGCE /| 2 /FIRS )
HETEEG: | E¥XESes /| 2R B0EE)

W 4 BE BE B pUIZ 2 (3521
S EMET B [ XOBBIWY R G/ 5 BARER

< T i % B D - R B (6124)
BEFIERcE) [/ XOETBFEiEm) /| ShtIERZEc:)
mEEEE R | BEHIRScE) /| R RTIR4AE R

%5 BBt (2:21)

MWRKRETEERAN /| BATBAERAR

X Wt i B D /DB (e124)
RBRDBEGn [ REBHAGE [ BEHEE 0N
EHFE RO [ WRBERCH | ©DHKE N

HH 1l B BRI pUIZ 2 = (3:21)
BRREETEAG /| BAEEVERE |/ BRAEBELRE

Ut I e % v B R

%ﬁﬁﬂ%mfzmmﬁ)
BRBERS /| NBCHEEBE

T2 HE

$8000+10% (=)




52 050 W 0 5 5

XERB:T$35+10%/4

AE VY iy
(R T E /BB IR/ W ke A% / 48 7 B 72

13 L 7 M 2 S
R B e U O - BERS (6324)

BRIBREcE) /| BEEARKGE /| =B cE)
ZETREMRG: /| EXXEAeR /| EERLBEeE)

KBt e U O - KOG (6124)

1 HF AR (E) / XOB T EFBEkm / ZMIERE ()
BEFERE R/ BEAERD R / BBRRIRG S8

WA i E i (2=
PR KEMA | B EE RS ARG IEES

Je P e X B O -/ BE (6124
IREANRueE /| REVKIcE) /| BEHES s
ERETEBr) /| BREFEGE) / © 48K EE)

WS THT 1 48 7T B 2R
LB 4% e e i
ER AL

$7000+10% (=)







) i A R 2 WG
302 R D |
CLEES Ve e

WA KGR (&8P
AR Bk HS W iz 2 — X8 R B
¥l A XK R -/ 2 e ¢ P

Tl Xk - A v
WA fF i N/ R I /2 HL /4 E £/ 6 e

=B A0 B (28F1)
B 00 B/ 4 e A B A S

Tl Ak XK R - g 6 Kk B B

0 1 v Xk - B R (59F1)
WA A /2L ML W/ 4 Ty 98
M ST 4 LI / 74 E 2 4 R
4
D pE PR BRI Wbz 2 — (3#F1)
TR PSR W/ S 2 RO W/ M 9 1

e LR 0 UK DOk

NT$D 1350 +10% 5\)

RAT AR W K $35+10%/ 4%




B WA AR

W R /D i |
EL e RS RS LA ) O
LI G A/ PR AR AE >

ARG R (S8R
AR BR G = 2 — B R WG
T Ak XK R -/ 2 e ¢ P

190 1 A Xk B - A O ¥ A
pea A Ve R TUVES SVESEE §iVAE IEL

0l s 3K K B - £ K P R

W J PR G =2 2 — (3#%1)
W 2 A/ X OB W I 0D R 4 /4 75 W g K 8

Al Sk B - AR (54%2)
m WAL 38/ FL DR BB / 40 74 2 14 96
OB w7 A
A PELBE G =02 2 = (3#F1)
B T RS WA/ T4 0 W/ L 1 % 100 W 4

ey PR A Ht ok YL VR B
NT$9800+10% (10A)

RITBRR WK $35+10% /L




L WIS SR
W =R

Bl E R H /W R B AE /B PR AR m
R KEBE (SWR)

W = 0 — Y

WA XK -1 A

5% B o v X B 0 - Bl B (6 2 4)
BRI R sm) / A BB KcE) / 548 EEDEen)
BETHEKes , BEEXEML R,/ S2RPHEcR)

1l 8 Xk B - AR N T
W pE PR BRIE =122 — (38E1)
VM) K /2 75 W8 A R B/ X O B W 0 D R i
0l Sk - AR (43F2)

B WM ACFE / ok B 6 95 SR
SR B0 — A A AR / V4 BRSO A P A

R OW® T XD -/ B (614

%*ﬁﬁfﬁ PR () / TR BR ML om) /B EE R ] om)
FE NI AR (o / MR R BE A G (30 / & ) iR K R ()

HA 4 PR R =22 = (3#1)
AR SO W VA A W /R DY S AN
U R B B (24 1)
9 E R /16 T AL
T2 H &E

NT$8700+10% (10A)

RITRRREIIK $35+10%/1%




7 0 K B L
waow RO

NT$ 180 /% 465

NT$ 320/5 A1
NTS$ 400/5 A

AELEHE
r QKRR
il A AL
AN B3

i K S D

i 3¢ 1 R

f WAL
B A

A V4 T A
5 B — B2 B
VG B 2 B

M g ¥
A Bt U 0
4 F A
ik H
A B 0

=R A=L

NT$ 400/ %420
NT$ 400 /%425
NT$ 400/ =418k
NTS$ 400 /5415 A
NT$ 400 /54715 A

NT$ 60 /% 4r10%

NT$ 80 /%45 8%
NT$ 120 /#4355 -

NT$ 150 /843208

NT$ 150/ 5&4310%



